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Section B: Short-Answer Questions 20 x 2 marks
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Section A: Multiple-Choice Questions (40 maris)

Questions 1 to 20 cany 2 marks each. For each question, four options are given. One
of them is the comrect answer. Make yeur choice (1, 2, 3 or 4).

Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheét (OAS).

SHADE the oval completely. Al diagrams are not drawn to scale.

1. 7 thousands and 3 ones is the same as .

() 7301 -

@ 7031

@ 7030

(4 7003 o | )

2. in which of the following are the numbers airanged from the smallest to
the greatest?

{smallest) (greatest)
1) 2460 , 2046 , 2406
2) 2046 , 2460 , 2406
3) 2460 , 2406 , 2046
4) 2046 , 2406 , 2460 ( )

3.  How many angles inside the figure are more than 90°?

(1)
{2)
(3)
4)

oW N




Jenson has a packet of 48 chocolates and a bottie of 36 sweets. What is'
the maximum number of friends he can share the treats with feach
friend gets the same number of chocblates and swests?

(1) 6

2 8

3 12 _

4 24 ( )
3_ [

e

What is the missing number in the box?

(1) 6
2 17
@3 31
4 34 : O

1798 less than 4590 is

{1y 2792
(2) 2808
(3) . 3208
(4) 6388 (. )
97
y 27°

A D
AD is a straight line. Find 2y.

(1) 53°
@ 56°
3 76°

4 o4 ¢ )



8.  The figure belowis made up of a square ABCD and a rectangle FGHJ
BF = CJ. What is the length of BF?

Ich

J T H
D« G
22cm
() 5Scm
(2 6cm
3) 7cm . _
@ 14cm . | S ( y

Q. Mr Lee has 11 shelves of books. If each shelf has 126 books, how many

books does Mr Lee have?

() 1226

(2) 1286

(3) 1326

(4 1386 )

10" ABCD is made up of identical triangles. What fraction of ABCD is
unshaded?

A : —TmEsa B

OF
(2)
3)
(4)

W |t ofjwo|w




11, ‘Express your answer in its simplest form.

LA G
4 - 2 6
e
M 12
1
@ 15
7
@ 3
3 ¢ )
@ 1
12 Gary bought some sweets and gave % of the swees fo his sister. He
_then ate 16 swests and gave the remaining 40 sweets to his friends.
What fraction of the sweets did he give to his friends?
-2
m 3
.4
@ 3
5
@ g
! ¢ )
@ 3
13. Mary has -} as rﬁany toy dolis as Nancy. If Nancy has 15 toy dolis more

than Mary, how many toy dolls do they have aftogether?

1) 5
@ 20
(3) 25

(4) 60 ¢ )

tel



14,

Franeis bought 5 soccer balls and 2 volleyballs for $84. If each soccer
ball costs twice as much as volleyball, how much did Francis pay for .
each volleyball? X S '
(1) &7

2 $12

(3) $14

@ %42 )

15,

" Mrs Ong had 2%!(9 of flour. She used g—kg of the flour to balgt_a' a cake

and 1%!(9 of the flour to make doughnuts. How many kilagrams of flour

did Mrs ‘Ong have left?

2
() kg

4
2 sko
@ T3k | .
@ 45k ¢

16.

A shop sells a packet of chocolate bars for $12. Each packet contains 8
chocolate bars. Miss Ng wanted ta give her class of 70 students a
checolate bar each. How much did Miss Ng spend on the chocolate
bars?

(1 %70
2 %%
(3) 108

(4 $126 t )




17.  Samued scared 16 points more than Thomas in 2 basketbalf matchr.
Thomas scored 7 points wigre than Jeremy in the same match. If the 3
boys scored a total of 81 points, how many poinis did Thomas score?
(ny 17. .

@ 24

3 40

“4) 51
18.

: Pla d
Matket aygroun Schoot
Park Joshua ~—+—— Shopping centre

Joshua is facing the shopping centre. If he turns 135° in the clockwise

direction, where will he face? :

(1) Library

(2 Cinema

(3) Market

(4) MRT Station _ ( )
19, The enirance fee to an amusement park ride is $15 per person. If there

were 120 visitors each dav on Monday and Tuesday, how much
entrance fees was <oiected on both days?

() $105
(2) $1200
(3) $1800

(4y  $3600 { )

o3



The bar graph below shows the number of tiooks sold by a bookshop from Monday to
Friday. | |

20

186

Number of
hooks

10 4

Monday Tuesday Wednésday Thurdday Friday

20. On how many days did the booi{sh'op sell less than 10 hooks?

() 1day

(2) 2days

(3) 3days _

4) 4days ()




Section B' Short Answer uestions 40 n

Queshon20t040 camesZmarkseadw-Wl:teyouranswermtheblank
provided.

21. A number when rounded off to the nearest hundred is 3600 What is. the

Jargest vossible value of this number?

22.  ABCD is a rectangle. Find £EDC.
E B

25%

Ans: N

23.  Fom the greatest odd number using the digits 2, 5, 1, 6.

Ans:,

Do not write
in this space.

0§



24.  Armange the foliowing fractions in descending order: ‘ Do not wrﬂe
. - m this space.

221
7'5" 4

Ans: , ,

Study the graph below carefully and answer questions 25 and 26. The
graph shows the number of books sold in a week.

70 -

/

Number of

0 . | ¥ L 1]
Mon Tue Wed Thur "Fri

Days o1 the week
25. What is the greatest increase in sale of books?

Ans:

26.  Express the number of books sold on Monday as a fraction of the total
number of books sold fromn Monday to Friday. Express the answer in the
simplest form.

Ans:

10




27. Tonyspent 383— of his money on a pair of shoes and had $105 left. How "
.mhchumneyﬁdhehameétﬁm
Ans:$
28. BoxAhasa mass of §kg The total mass of Box A and Box Bi is -5—kg
How much heawer is Box B than Box A? '
Ans: kg
29. Jamce packed 4817 fruit tarts into boxes. If 1 box contains 3 tarts, what

is the minimum number of boxes she would need to pack all the tarts?

Ans:

11

Da not writa
in this space.

=%



30. Andywnt&eashmgeﬂettemmﬂzefoﬂowmgpaﬁem
ABBBCCABBBCC

If the pattern continues and he writes a total of 65 letters, how many
letter “B’s are there altogether?

_ Ans:

31.  Melvin bought a cap, a jersey and a T-shirt. The jersey costs $15 more
than the cap but $35 less than the T-shirt. if he paid $140, how much did
the cap cost?

Ansi§o -

32. Joseph and Kelvin had an equal amount of money. After Joseph had
spent $136, Kelvin had thrice as much money as Joseph. How much did
each of them have at first?

Ans:$

12

" Do not write

in this spaica.




33. Tim had81 marbles. He gave 14 marbles ta Si Ling and some fo Sean

Hehad ) oiﬁtemarb!es!eﬁ.HmvmanymatblesdidngweSean‘?

Ans:

34.  AO, BO and CO are straight lines meeting at point O. ZACB is equal to
LAOC AAOB is twice. ABOC What is the value of ZAOC?

. : 5

Ans:

35..  When a number is divided by 6, it has a quotient of 85 and a remainder
of 2. What is the number?

' Ans:

13

Do not write
in this space,

o4




36.  When Mrs Teo is 31 years old, her daughter is 7 years old. In how many

years” fime will she be thrice as old as her daughter?

Ang;

37. - Michaet had 224 stickers. He used some of the stickers and had g of

his stickers left. How many stickers did he use?

Ans:

38.  1penand 1 book cost $14. If the cost of 4 pens and 5 books is $62,
how much is the cost of a book?

Ans:$

Do notwrite
i this space.

14




39. Tflerewere?ﬁpeopleétasw_iuuningm :1— of the people were adults.

g- of the children were girls. How many girk; were there at the swimniing |

pool?

Ans:

- 40.

- At a concert, every 4" person receives a poster and every 6™ peison
receives a CD. What is the position of the second person who receives
both the items?

Ans;

Ba not write
in this space.

15
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zection C: L.ong Answer Questions (28 marks ’ Do not wite
Question 41 to 45 carmies 4 marks each. Write your answer in the hlank i this space,
provided. Show your workings cleary.

41.  Thomas bought some packets of sweets. Each'packet of sweels cost
$2. For every 2 packets of sweets he bought, he was given 1 free
packet of sweets. if he has a total of 31 packets of sweets, how much
did he spend in total? '

Ans; [4]

16




42. John and Sam had an equal amount of mongy at first. After John gave Do notwrite
' away $148 and Sam spent $16, Samt has 4 times as much money as I this space.
John. How much did each of them have at first? )

Ans: [4]

17 w3



Peter has 24 chocolates more than Gerald. After Peter gave away some
chocolates and Gerald threw 20 chocolates away, Gerald will have
thrice as many chocolates as Peter. If Peter had 197 chocolates at first,
how many chacolates did Peter give away? '

Ans: f4]

1 Do notwrite

in this space.

i8




44.

Alanhad asmanymbi%asChaﬂes Benhad asmanymafbl&a

as- Chaﬂ% 1f Ben had 48 more marbles ﬂlanA!an, how many marbles
did the three boys have altogether?

Ans: A

Da not write
irv this space.

19
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45. The patterns befow are made-up of sficks of equal length.

NN

Pattém 1 Pattermn 2 - Pattérh 3

a) How many sticks wili there be in pattem 57
b} In which pattern number wilf there be a total of 81 sticks?

Ans:a)

[2]

b)

12]

| i this space.

END OF PAPER.
Ha. = you checked your work?

20




ANSWER SHEET

EXAM PAPER 2012

SCHOOL : CATHOLIC HIGH PRIMARY SCHOOL
SUBJECT : Primary 4 - MATHS

TERM :SA1
Paper 1
Q1)1Q2|Q3|Q4; Q5| Q6| Q7| Qs8] Q9| Q10| Q11| Q12| Q13| Qt4]Qi5]Qis[Qi7[ Q18] Q9] Q20
414 | 313141141234l 3]3[s3 311213 2[a1atl2
21 3649
22 65
23 6521
24 2/5,27,1/4
25 Friday
26 1/3
27 168
28 8/35
29 1606
30 33
31 25
32 204
33 58
34 144
35 512
36 5
37 32
38 6
39 19
40 24
41 31+=(2+1)=10r1
1W0x2+1=21
21x %2 =342

42

3u>146-16 =132
Tu>132+3=44

nt



" 43

44

453

45b

51x2=102
102+ 20+ 24 = 146
48+3=16

16 x 13 = 208

21

80+4=20
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